[d° sum p_/dndeGeV]

Ratio to ATLAS

1.5

0.5

0.5 -

7000 GeV pp

= r T - T T 1 T T ]

-
\

- Z(p,) vsn'** (| < 25, p, > 0.1 GeV) I
B m ATLAS -
| --O3-- Herwig 7.2.1 default ]
- —&— Pythia 8.180 default |
- ¢ Sherpa 2.2.9 default —
B \ ng i

L £ v i u
oy r.:m‘?“’-‘ﬂi_iv oyt 1 "'ﬂ' AT 5 “ﬂl.\“ e it ) 1

’9¢¢¢¢¢9 (XTI TIPE LS

Underlying Event
N I B S

1 CHE I\

’QQ- } ’ ¢’¢’_

Iy ‘ ¢ a2 00000’¢¢¢¢¢’¢’¢¢0

o
wlAy

In| (leading track)

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


